EXERCISE 53
1. Fill in the blanks.
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1 more than 14 is
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10 more than 14 is
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1 more than 22 is

10 more than 22 is

50,
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1 more than 43 is

10 more than 43 is
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1 more than 35 is

10 more than 35 is

1 more than 56 is

10 more than 56 is
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2. Fill in the blanks.
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1 less than 23 is
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10 less than 23 is .

00000

1 less than 15 is

10 less than 15 is
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1 less than 39 is
10 less than 39 is
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1 less than 27 is
10 less than 27 is
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1 less than 51 is
10 less than 51 is
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EXERCISE 54

1. Follow the arrows and fill in the missing numbers.

CHECKPOINT

i .
+10 +10
+1 ~1
-10 +10
+1 —1
+1 +10

CHECKPOINT END
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EXERCISE 55
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(@) 45 + 10

(b) 39 + 30

(c) 95 — 20
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Count on 1 ten
from 45.

from 39.
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Count backwards
2 tens from 95.
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Count backwards
2 ones fom 68.

\ec

(6)71 + 3 = h/\

Count on 3 ones

(Q'from 71.

P o N "
/\ /\
Count backwards
3 tens from 56.
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(g) 87 - 3 = /"*\/\,—\3
ﬁ\ount backwards

Count on 2 tens

from 64, \—/) o
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(f) 56 — 30

(h) 64 + 20

132




Y
. EXERCISE 56
1. Fill in the blanks.

(a) 1 more than 77 is

(b) 10 more than 77 is

(c) 1 less than 82 is ;

(d) 10 less than 82 is :

(e) 1 more than 80 is

(f) 2 less than 80 is :

(g) 3 less than 84 is :

(h) 10 less than 86 is ,

(i) 20 less than 98 is j

(j) 30 more than 62 is

(k) 20 less than 96 is :
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EXERCISE 57
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(a)
24 + 3 =

(b)

Db

32 + 5 =

(c)
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46 + 2 =
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2. Add.

5

25 + 2 = 36 + 1 =
4+ 4 = 7 +2 =
4 + 4 = 57 + 2 =
3+ 3 = 1 + 8 =
63 + 3 = 71 + 8 =
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EXERCISE 58
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7 2. Add.
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EXERCISE 59

0 0000

10 + 40

30 + 50

30 + 20 =
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2. Add.
1 [ [ ] q 1 [ ]
— —q — — — _-1
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3tens + 5 tens = tens
30 + 50 = .
2 tens 3tens = ____ tens 1 ten + 5 tens tens
20 30 =_ 10 50
3 tens 4 tens = ____ tens 6 tens 2 tens ____tens
30 40 — 60 20 e
2 tens 7 tens = ____ tens 3 tens 3 tens _____tens
20 70 =_ 30 30
8 tens 1ten =__  tens 5 tens 4 tens _____tens
80 10 =_ 50 40 I

139




